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PW-A Find siope and Rate of Change

Your Notes

‘Gpals - Find the slope of a line and interpret siope as a

rate of change.
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FINDING THE SLOPE OF A LINE

METHODIL T GIvEN 2 PeinT S
Yz =¥ change in N
The slope of the nonvertical line m= 2 1= g : y = ——j—_
Xy — X4 change in x AX
passing through the two points

(xi’ Y1) and (x21 Yz) SI‘“L R S — _—-—-_-—-,‘|
: . M = AN _ b&l ‘"%2_ \

1 T A o | 3 T \:
Ponr 1 ot 2 X, 1tz l

1

T TR e
m -
UNOEFNE D

me—mouﬁ Gusn A GRAP 13

Graph R <
slope = ,
N RJIn
Rud

' RIsE
+
™



Your Notes nd a slope
Find the slope of the line shown. USI\BE Rise ovee Rum.

&
W<, 8] Let (xg, yq) = (=1, 2) b. Let (Xq, ¥y) = (1, 4)
and and (x,, ¥o) = (3, =2).

]W«—?\_z,
2or

T TN RoN =

Ly m--2

Keep the x- and _ -3 -

{,;?;ar:ga:f;e'rn. Write formula for slope. P
in P —

the numerator and PTS (:!, Z) (3,5) AL EQUAL

denominator when XY v Y

calculating slope. Substitute.

This will help avoid
error,

N

Simplity.

The line s from left to right. The slopeis ™
#* Rises from left to right. The slop L/

PosiTive .
blm = % Write formula for slope.
T t+ ( y Ll) (3 f —-2()
e
M= _14——--5“2 Substitute.

ALORYS WRNTE |
ey Mz B

4 The line FALLS from left to right. The slope is \
\_ MECATV ¢ .

0 Checkpoint Find the slope of the line passing through

the points,
Remem\n.er‘, P
1. (-3, —1) and (—2, 2. (-6, 3)and (5, -2

_5 -5 5 ( ) and ( (1).) ( ) " ( ) i

noown -—:‘_ﬁ :_:!_:L __-‘Z'ﬂ'_ M= 3""':_5': n X3

J 312~ - -2=(-3) -4 3‘-\5"6)
“These Sreetins M= 5 +
O & San. JCanL -L§
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Your Notes Find the slope of a line

>Find the slope of the line shown.
a. Let (x4, ¥4) = (2, 8) b. Let (x4, ¥4) = (4, -2)

P’*E‘*OD
\ T and (xy, ¥,) = (~4, 5). and (X, ¥5) = (4, 3).

R ]

) g > e ﬁ-r 1 N
= Rise O il T[T me RS
N N N _-Ir_ i
& I e G R feant

- | PR SRR N S ._,!L.._] o

METMOS IT : U se m= &/

am= _@l Write formula for slope.
B (25) (-4,
5-s o LA |
M= " = - Substitute
Q- ¢
m =0 Simplify,
& The line is Hoeizounw, The slope Is 2 £20 (o)
b.m= &1 Write formula for slope.
ox (4.-2) (~t 3)
z2-3 5 A Y ¥

m = g4y -y Substitute.

(I = unosFout 8 implty

#The line is VE4TI cAL . The slope is UNDEFA ATep

@ checkpoint Find the slope of the line passing through
the points. Then classify the line by its slope.

3. (1, —2)and (1, 3) 4. (-3, 7)and {4, 7)
SETERE M:7-1 o
1=V |1_ =
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Your Notes

Find a rate of change

Gas Prices The table shows the cost of a gallon of gas for
a number of days. Find the rate of change with respect

¥'s

+ime.

Rate of change

change in cost
change in time

to time.
’/—-—\ & ﬂﬁ& WY N
Time {days) |Day 1 |Day3 |Day 5 THE DEAUNA
Price/gal ($) | 199 | 2.08 | 2,19
"\.__.--"

Write formula.

2.0 -199
= ";—‘—' Substitute.
%10
= 2 DAIS Simplify.
= $.o05/bAY

.

o Checkpoint

The rate of change in price is | Sd _per day.

5. The table shows the change in temperature{over)
time. Find the rate of change in degrees Fahrenheit TS
with respect to time.

A TEMP of
Temperature (°F) | Time (hours) Ra-l.g. = A “TTme - 1n S
7 38 o &
(-..') 43 2 _43-3% 1 ¢
48 4 Rate = 2-0 2
53 6
A - [
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Fi:aé)the slope of the line that passes through the points.
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Pl'a thce c continued
x For use with pages 234-242

G\ueu 2 POINTS

Find the slope of the line that passes through the points.

16. (3.4)and (8, 7)

4=
M ok

M="%s [m=3g]

19. (4,2)and (-6, 6)

il

7

17. (5, 5)and (=2, 1)

_ )
559

[M=T+4]

M

20. (—3,4)and (4,8)

m= ¥

-3-4

-4
M= = [M

18. (6, —1)and|6.

I | =

"‘|“|l'z,

/]:
(-6 —

M= RS M
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21. (1, —9)and (6, —5)

22. (2,—5)and (5, =5) -

-
sl M

Qo

23. (-8,-7)and (—4, —2)

Me A=
- =
_ =
E = = !fhfvsk

24. (-2, —6)and (4, —5)




